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Question Number : 1 Question Id : 4509386721 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

f:R- Risdefined by f(x +y) = f(x) + 12y, Vx,y € RIff(1) = 6, then

i flr) =
=

FR-ROJIO fx+y) = f(x) +12y,V 1,y € R AG;0002G0A.f(1) = 6 NS,

if (r) =
r=1

Options :

n



5n?

2. %
2
3 ¢ 6n
3n(n+ 1)
4. % 2

Question Number : 2 Question Id : 4509386722 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The domain of the real valued function f(x) = V2 + x + V3 — x is

FO) =VZ F 1+ V3 —x Qe PO § [2aDONO ABWEY (DTF0

Options :

(—2,3)
1. %

[-2,3)
2. %

(_21 3]
3. %

[_21 3]



Question Number : 3 Question Id : 4509386723 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If 2.427+1 4 33n+1 4q divisible by k foralln € N, then k =

DS n €N 5o, 2.420+1 4 33041 9T A | T 2rAONVES, k =

Options:
209
1. %
11
2.
8
3. %
3
4, %

Question Number : 4 Question Id : 4509386724 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
A A
a®? b? c?|isnot equal to
1 1 1
a b ¢
a? b? 2] 50 Do 5T
k. * G
Options :

a+l b+1 c+1
a?+1 b2+1 241
1 1 1



0 0 1
2. %
a(a+1) b(b+1) c(c+1)
a+1 b+1 o e
i | 4 o, |
3. %
a+b b+c c+a
a3+ B+t &1t
2 2 2
4. &

Question Number : 5 Question Id : 4509386725 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Let A, B,C,D and E be n X n matrices, each with non — zero determinant. If ABCDE = 1.

then (™1 =

ABCD HBAM E 0 nxn NS SP@Ee, (D6 e RS AT050
$OR (98, ABCDE = 1. 0@ (1=

Options :

i e B :
1. %

DEAB
2. ¢



S e § R e

ABDE

Question Number : 6 Question Id : 4509386726 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A= {ai-j]. 1<ij<nwithn=2and a; =i+ isamatrix, then the rank of 4 is

n 22 800 a; =i +j @ODIEY 4=[ay] 1<ij<n OO 28 NS NS

7|8 4 Ging) §°8

Options :

0
1. %

|
2. %

2
3. v

4
4, %

Question Number : 7 Question Id : 4509386727 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



(z-z;). =
18—

Ifz; = 10 4+ 6i, z, = 4 + 6i and z 1s any complex number such that the argument of )
Z _Zz

then

7-7;) _ Lo T
EZ 213 Qi).)g& LTS : @ﬁi};@)@@ﬁ Z :Q@RT’
K7

7,=1046i, z,=4+6i OO

H084 oS o, @))¢h

Options :

|z —7 —9i]| = 3v2

1. %

|z —7 —9i| = 2v/2
2_23

|z—3+9i| =3v2
3. %

lz+3—9i] = 2V2

Question Number : 8 Question Id : 4509386728 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
. 3-2isind . .
——— is purely imaginary number. then 8 =
1+2isinf & = &
3—2isinf
———— DOED )b SO0 OV 6 =
1+2isinf
Options :
2nm + i
nmw +—
T4



2ni

=
M| S

Question Number : 9 Question Id : 4509386729 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
2Zn
: e |
If z=x+iy x2+y*> =1 and z, =z, then éﬂ =
' : zy +1
o ig Zfﬂ'—l
z=x+iy, x2H7=1 DB z;=z6° OONS —S— =
[ 2
Options:

—i tan(n (8 1 Tan ! (})))

i Cot (n (H + Tan_lg))



X
[ tan (n (5‘ & Tt ¥))

i tan (n (5’ - Tan_lg))

4.+

Question Number : 10 Question Id : 4509386730 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Let [1] denote the largest integer not exceeding r and the roots of the equation

3xt 4+ 6x+5+alx®+2x+2)=0 are complex numbers whenever a>L and a<M. If

(L-M) is minimum, then greatest value of [r] such that Ly*+ My +r<0 forall y € R s

r 8§ DO 8 aFTOS [1] APDY 0GR, @ > L DB 0 < M S0,

3 +6x 45+ a(x? + 20 +2) = 0 DD3BE0 TBEy Sreren HosY Hopen 6

9 DSOB. [L-M) $300 BSOS, | y € RS, Ly’+ My +1<0 @GDIEIEDT &0T [1]

308, 11Ba) Deod

Options :

1.4 .

2. # =
L+M



Question Number : 11 Question Id : 4509386731 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

1x%+12x46

3 & (a, b] then the value x for which
x“Hx+2 '

For any real value of x. if

11x2+12x46

=bh—a+3is
x2+4x+)
x> 412x46 112+ 2046
T "¢ (a, b] ew00®, ——
x2+4x+2 x2+4y+2

o) TN NODS ¥ =b—a+3 &Ghity

[l

Options :

b-J

B | =

Question Number : 12 Question Id : 4509386732 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

If the roots of ' ’ = Eue aand f (f > a) and the equation

(@ +B)x* = 25 afx® + (y + f — @) = 0 has real roots. then a possible value of y is

E - Jg = gﬁinég, Sareren a HBA B (B > a) DO IDEGE0

(@+B)x* — 25 afx® + (y + B — @) = 050 aPR) TETEN GO, y 50 P50 28

RGN
Options :
1
2
1.¢
4
2. %
21
3. %
Ve + 13
4, %

Question Number : 13 Question Id : 4509386733 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If the roots of the equation x* + ax® + bx + ¢ = 0 are in arithmetic progression. then

NG 13 + ax® + bx + ¢ = 0 BWE), sreren Wo¥EA S GO, @)

Options :

1.



a®—3ab4+c=0

%

9ab = 2a® + 27¢
2.

at—2bc+c=0
3. %

3ab—3c—a® =0
4. %

Question Number : 14 Question Id : 4509386734 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A test containing 3 objective type of questions is conducted n a class. Each question has 4

options and only one option is the correct answer, No two students of the class have answered

identically and no student has written all correct answers. If every student has attempted all the

questions. then the maximum possible number of students who has written the test is

2,8 SOIBES 3 DAY BETF (900 (1) 28 BY D ABLFOTE. [HE ()80 4
DOITENOLFAN SO0 2.8 D0 BN NTTI0T GOV, 2 AVH
ATDO QTTTOF NEITIOT Do) HOON N30 @) BT
JPTe) |TONBE. 1068 A o) HHOD (DN R, SBY &
TODTRE 30005 A5 (185} D03

Options :

30
1. %



2. ¥

15
3. %

11
4, %

Question Number : 15 Question Id : 4509386735 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The number of numbers lying between 1000 and 10000 such that every number contains the
digits 3 and 7 only once without repetition is
1000 B0 10000 S GOEF, HB J0PSD 3 HBAM 7 ©OZOD
DITYB0 THOT 2,80 Sr(han SOR GOT 0D O3

Options :

1140

918

Question Number : 16 Question Id : 4509386736 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The number of ways m which 17 apples can be distributed among four guests such that each

guest gefs at least 3 apples is
17 820 H0Bh Senihih SBHOH NS S8 A0 3 GO N0k

ORI HOWVHON DTONOD;

Options :

1140
1. %

336
2. %

36
3 #

56
4. &

Question Number : 17 Question Id : 4509386737 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
If the coefficients of x> and x° are equal in the expansion of (a + 5)65, then the coefficient of x2
X

in the expansion of (@ + 5)4 18

(@+9)% 60 & »* HOA x° © T, HESO) HSFIRS ©Y)ch (a + E)"J‘
Ang) AT S 12 Tng), Hedo

Options :



1. %
32
25
2. *
2
3. %
24
25
4.

Question Number : 18 Question Id : 4509386738 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
= 2 th . . pet 2 : zf .
i |x| 3 then the 4™ term in the expansion of (3x — 2) /3 1s

2 : ; PR a Vi Ak
|x| < ;@c:m@ (Bx — 2)°/3 DG S'D 4 S5 H SO

Options :
V4
oy
6
1. #®
Vi,
— X
6
2. ¥



Question Number : 19 Question Id : 4509386739 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

x%+3 Ax+B Cx+D
= + thenad + bB +cC + D =

x*42x249  xZ4+ax+b  xi4cx+b

-

xZ2+43 Ax+B Cx+D
— + 0N, ad +bB +cC+D =

x*+2x2+49 x2+ax+b  x%+cx+b

Options :
1
1. #
0
2. %
s |
3. %
4. ¢ 2

Question Number : 20 Question Id : 4509386740 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If secf +tanf = 'lf 3. then the quadrant in which 26 lies is

sec@ + tanf = 1/3 90N, 20 SO G0
Options :

1*' quadrant

1 03 PO
1. %

2% quadrant

2 &) Q0
2. %

3 quadrant

3 A0
3.¢

4™ quadrant

4 35 S0
4. %

Question Number : 21 Question Id : 4509386741 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
If540° < A < 630° and |cos 4| = 15—3 then tan%tani—l =

540° < A < 630° 20803 |cosA| = 15—3 ONS, tangtanﬂ =

Options:



5
1. %
2. %
8
5
3. %
18
av O

Question Number : 22 Question Id : 4509386742 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If (cc + P) 1s not a multiple of % and 3sin(a — f) = 5cos(a + f§). then
tan G + cr) +4tan (E + [3) =

(a+PB) @O % O308) (1320 ¢ OO 3sin(a — B) = 5 cos(a + ) HONS,

tan G + af) +4tan (E + ﬁ) =

Options :
1.¢ 0

1
2. %



4. %

Question Number : 23 Question Id : 4509386743 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The general solution of the equation sin?6 + 3cos?8 = 5sinf is

sin20 + 3cos20 = 5sin@ HaNEGE0 ABNEY, TG TP
Options :

i
nnt—nez
3

_ T
nm + {_—l_)”g,n € Z

|~
| 5

nim - &£

my

T
niw + (:—1)“5, neEZ

Question Number : 24 Question Id : 4509386744 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0
> s e a
If cos ™t 2x + cos ! 3x zgand 4x2 mza Ethen a+ b=

cos 12x +cos 13x = % J805 4x? = %@CI‘Q@ at+b=

Options :
12

1. %
11

2. %
31

3. %
10

4.

Question Number : 25 Question Id : 4509386745 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
If 8 = sec}(coshw). thenu =

6 = sec!(coshu). ©ONS u =

Options :

e on(0-3)

oge (1en (5 - 7))
o8- dall E—E



oge (1an (3 -3))
0g, | tan TR

oe (1 (4 3)
0g, | tan 44—2

4. &

Question Number : 26 Question Id : 4509386746 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

, ; A . B " C
In AABC. if 4r; = 51, = 613, then sin? ™ + sin? y + sin?= =

2
ok el ol
AABC &', 41, = 51, = 615 @QODS sin? = sin? =+ sin? =
Options:
19
22
1. %
25
33
2. ¥
74
99
3. %
28
33



Question Number : 27 Question Id : 4509386747 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
A B c
In AABC,rmy cot> + 11y cot> + 113 cot =

A B c
AABC &S rry cots +rr cot> + 11y cot> =

Options:

3A
1.+

35
2. %

S

A
3, #*

A
4. %

Question Number : 28 Question Id : 4509386748 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
In AABC,bc — 1313 =
AABC &' be — 10y =
Options :

Ty
1.4



2. %

3. % 1
ary

4 %

Question Number : 29 Question Id : 4509386749 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The angle between the diagonals of the parallelogram whose adjacent sides are

204 4j -5k, i+2j+3ks

2i 4+ 4§ — 5k, i +2j + 3k AOFEN B8AS)Zherent (10 ddroedd ehhyBno sy

DETO s fie 80

Options:

/!
Cos™ i (_—_)
69




g 31
Cos ( _)
7469

4, &

Question Number : 30 Question Id : 4509386750 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If the points having the position vectors —i +4j — 4k, 3i + 2j — 5k, —3i + 8j — 5k and

—3i 4 2j + Ak are coplanar. then 4 =

—i 4 4j — 4k, 3i + 2j — 5k, -3i + 8j — 5k DBOW —3i+2j+ Mk T dddewr (e

DoY) HSOOTSS, 1=

Options :

1
1. %

2
2. %

e
3.

=<3
4, ®

Question Number : 31 Question Id : 4509386751 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



If |[f| = 10,1g] = 14 and |f — g| = 15then |f + g| =
7] = 10, 1] = 14 SHBAD |F — §| = 15 oW |f + | =
Options :

367
1. %

V367

400

20

Question Number : 32 Question Id : 4509386752 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If @ b,¢ are three vectors such that |a] = |f_) | =1¢| =v3 and

(@+b-8) +(b+c-a) +(c+a—b) =36, then|2a—3b+2¢| =

7R Ch) AOFEN [l = [b] = |2l = v3 DB

(@+b-8) +(b+c-a) +(c+a—b) =36 T &0, [2a- 35+ 2] =




[ §]
Lh

147

Question Number : 33 Question Id : 4509386753 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The angle between the line with the direction ratios (2. 5. 1) and the plane 8x + 2y —z =415

(2,5.1) OF A)eNT ffe) T8 OO 8x + 2y — z = 4 eV Seds 8620

Options:




Question Number : 34 Question Id : 4509386754 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If the mean deviation about the mean is m and variance is ¢® for the following data. then

m+a?=

| L | 5| &[T |9

f | 424 28|16] 8

1500 S0 5005 @08 a0 5ol G als D3 ION0 m DB Ay

g’ @CLD@, m+o? =

% |k | 3|5 [ |9
f | 4 2428|161 8

Options :
3
1. %
7.2
2. %
28
3. % 2
6
4.

Question Number : 35 Question Id : 4509386755 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



If five digit numbers are formed from the digits 0. 1. 2. 3. 4 using every digit exactly only once.
then the probability that a randomly chosen number from those numbers is divisible by 4. is

0. 1. 2. 3. 4 BOFOND, [ @OSD D)HOM 2.5P0 SP(Sd) FRE0LP 0%
903 HOPLOD DGIBW, & o3 DOk ATy S0T NOTHER) oS 4T

2TA0NNTE TR 02T 36

Options :
16
1.4
3
16
2. %
3
8
3. %
16
4, ®

Question Number : 36 Question Id : 4509386756 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Two natural numbers are chosen at random from 1 to 100 and are multiplied. If A is the event that
the product 15 an even number and B is the event that the product is divisible by 4. then
P(ANB)=

1 DO 100 585 ) NaFe NODIEL OB ASPEYN 50T BoGOER OTHSA
T3 hedomdh. a3 WM 2.8 N80 BT sHEI A HOAK T¢3 OV 4
D rAoYRRE @ADS L B NS, P(ANE) =

Options :
25
198
1. #
49
198
2. %
25
99
3.¢¥
50
99
4, #

Question Number : 37 Question Id : 4509386757 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A box P contains one whate ball, three red balls and two black balls. Another box Q contains two
white balls. three red balls and four black balls. If one ball 15 drawn at random from each one of

the two boxes, then the probability that the balls drawn are of different colour is

28 WP S 28 BOR, P B OO Todh HOR 20K GO0, H
20 QS Boch BOR, sarcdd JBR B TeNIH SR 20HEN GO, (N
DY) DOG OFEYDIZOT 28 20BD SRS, B 20ehen J65% Sorben
EONSEINT &OT 02Ta5eh

Options :
29
1. % =
25
42
2. %
35
3 @ 54
35
52
4, %

Question Number : 38 Question Id : 4509386758 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A person 1s known to speak false once out of 4 times. If that person picks a card at random from a
pack of 52 cards and reports that it 15 a king. then the probability that it is actually a king is

2,8 58 4 TS 1 70 @3¢b50 STEFEE R Beed. & 55§ 52 Shen o DELE)

006 2.8 TR AFBYDIE0M JOLNER 9 Tz e (D4R, @6 dzom T

bl 1 M

©9aDS D05
Options :
1
- 37
1
5
2. &
12
37
3. %
25
2% 37

Question Number : 39 Question Id : 4509386759 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



For a bmomial variate X~B(n, p) the difference between the mean and variance is 1 and the

n
difference between their squares is 11. If the probability of P(x = 2) = m @ and n = 36 then
m:n =

2,8 B 50 HOTF X~B(n,p) § @055 DBAN DY AN BIen 1
B08 ¢ 5T NS B 11. P(x = 2) =m (S)ﬂ B0 7= 36 QONS, m:n =

6

Options :

6:5
1. %

7:10
2. ¢

36:1
3. %

42:25
4, ®

Question Number : 40 Question Id : 4509386760 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The probability that a man failing to hit a target is g . If he fires 4 times. then the probability that
he hits the target at least thrice is
2,8 988 2.8 53R TOOVDEITD N02rdsed % LS 4 ) S0 )00 260,

A0 SR 532 TOOT doerdse

Options :



16

&7

1.4
11
27

2. %
8
81

3. %
32
81

4. %

Question Number : 41 Question Id : 4509386761 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
A(2,3),B(-1,1) are two points. If P is a variable point such that ZAPB = 90° then locus of P
18
4(2,3),B(-1,1) & Boh Doheden. P &3 28 V8 Do) £APB =90°
9OSEILEDT GOB, P AIE) Dochndo

Options :

x2+y2—x—4y+1=0
1.¢

2+ yi4x+4y—1=0



x> +y?—x+4y—-1=0

x2+y2+x—4y+1=0

Question Number : 42 Question Id : 4509386762 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If the origin 1s shifted to remove the first degree terms from the equation

2x% —3y? +4xy + 4x + 4y — 14 = 0 then. with respect to this new co-ordinate system. the

transformed equation of x* + y* = 3xy + 4y + 3 =0 is

22 —3y2 + Ay +4xr +dy—14=0 DDE0 D0A HAE SGHB HTO
S 0NTANTE OO STFOIT SN SPeed TS 3555 Qoals
x4y = vy + 4y + 3 = 0 QB0E), ArarosBo TodS HadEsn0

Options :

x24+y2—-3xy—2x+y+6=0

2+ y?—3xy—-2x+7y+3=0

x4+ y?—3xy—2x+y+4=0

24yt —-3xy—2x+7y+4=0
4.



Question Number : 43 Question Id : 4509386763 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The circumcentre of the triangle formed by the lmes x + y+2=10, 2x+y+8=0and

x=y—2=01

x+y+2=0, 2+y+8=0:00001—y—-2=00908 )3 BeHBen G0E)

DO30|3en

Options:
(=5,1)
1. %
2. ¢
(0,—-2)
3. %

Question Number : 44 Question Id : 4509386764 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



If the line 2x — 3y + 5 = 0 1s the perpendicular bisector of the line segment joining (1,—2) and
(a,f).thena + f =
(1,-2) OO (a, £) ©e E05) DT DOTR) e ;D0 DO T

203y +5=0800B a+f =

Options :
1. % 7

1
2. &

—q
3. %

=
4, ®

Question Number : 45 Question Id : 4509386765 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

If the area of the triangle formed by the straight lines —15x% + 4xy +4y? =0 and x = aris

200 sq.unit, then |a| =

~15x% +4xy +4y2 =0 SO0 1 = ¢ BROS )T (BeHB FTO 5 200 TSGR

OrREONE o] =

Options :

10
1.4



20

40

Question Number : 46 Question Id : 4509386766 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The equation of straight line passing through the pomt of intersection of the lines represented by
x% +4xy +3y? - 4x — 10y + 3 = 0 and the point (2, 2) is
4y +3E—4r—10y+3=0 PD0D NS00 ok Doy DB
(2,2) Dochey o FTHBI® Nab3easin

Options :

2x+3y—10=0

1. %

3x+2y—10=10
2.

2Zx+y—6=20
3. %

i+ 2y—=6=10



Question Number : 47 Question Id : 4509386767 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The largest among the distances from the point P(15,9) to the points on the circle
x4yt —6x—8y—11=10is
P(159) DOR B 24y -6x-8y-11=0 2 o DodHos e
ErO0E {0 (80

Options :

12
1. %

13
2. %

19
3. ¢

7
4. %

Question Number : 48 Question Id : 4509386768 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The circle x? + y% — 8x — 12y + @ = 0 lies in the first quadrant without touching the coordinate

axes. If (6. 6) is an interior point to the circle, then
S9Ba0 x2+y2—8x— 12y +a =0 AArNE OFOH TR0 G rdoS

&00. (6. 6) Do) & 259890 GR0E) 2.8 @S Do) BONB, @)1

Options :



4 <a<6

1. %

6 <a <16
2 %

16 < a < 48
3. %

36 < @ < 48
4.

Question Number : 49 Question Id : 4509386769 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The equation of the circle whose diameter is the common chord of the circles

eyl —6x—7=0andx?+y?—10x + 16 =0, is

W24y -6r-7=0 OO 2?+y2-10x+16=0 HTO )G &5 D

50T HOR o39€8e50 T30E) aEEEISN

Options :
8x%24+8y%2 —92x 4197 =0

1.4

x24+y2—-23x+197=0

2 3 23 +l'?]? 7
- R S SRR
‘ 2 4



4x% + 4y? —46x+ 197 =0

Question Number : 50 Question Id : 4509386770 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

If the locus of the mid points of the chords of the circle x* + y% = 25, which subtend a right

2 2
angle at the origin is given by — 4= =1, then [a| =
a 4

1?4 32 = 25 893 SRS AR S0 Do S8 0T T 205 & CB0E)

4 g s, Wy Al xZ : ’
G5 oYL DotNG0 —+ y—z = 1 9008 |a| =
a a

Options :
2
1% D
5
V2
2. %
2
25
3. %
5v2
4, %

Question Number : 51 Question Id : 4509386771 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The radical centre of the circles x2 + y2 + 2x + 3y +1=0,x* + Y2 +x -y +3 =1,

4yt -3x4+2y45=0is

24y 424374120, 24yi4r-y43=0 224y -3x+2y+5=0 ©

NITE QY)Y e T CIedn

Options :
7 6)
( 38'19
1. %
(6 14)
19°19
2. %

(14 6)
19°19
(5575)
19°19

Question Number : 52 Question Id : 4509386772 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Equation of a tangent line of the parabola y? = 8x, which passes through the point (1. 3) is

(1,3) o D y2 = 8x DTIOAN0 ABE) 2.8 )8 T Habddeo

Options :

1.



y=2x+1

&

2¥ = %F5
2. ®

y=—2x+5
3. %

2y = 3x+ 3
4. %

Question Number : 53 Question Id : 4509386773 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Z 2
If the chord of the ellipse % -I-% = 1 having (1, 1) as its middle point is x + ay = £, then

2 2
xtay=f OO %‘l‘%: 1 BYS)TRE (1,1) S5 Doty e 2 wowd,

€959 )¢
Options :
at+fpf=1
1. %
atl=F
2. ¢
a—1=7



20— 1 =38

Question Number : 54 Question Id : 4509386774 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

If a directrix of a hyperbola centred at the origin and passing through the pont (4, —2\.@] 15

V5 x = 4 and e is its eccentricity, then e’=

SO0 HQ SorrRy SO 0N (4,~2v3) Doche) o A

OSITHOON0 TE), 28 NODBHOP V5 x = 4 DO T €583,0(¢eh e SOV,

e.“:
Options :
V7
L, e
1. %
7
2
2. ¥
35
3., %
2"-.,-"'§
4. ®

Question Number : 55 Question Id : 4509386775 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

If [;and [,are the lengths of the perpendiculars drawn from a point on the hyperbola

: l &y 2
5x% — 4y% — 20 = 0 fo its asymptotes, then =

635920 522 —4y2 - 20 =0 2 (O 2.8 Dohe HOG TR @050 O

o L 4 I 2 I j
DS ©02820 Srtyen 1;HBAM I, 9ons, 11002 -
Options:
20
1. % 2
16
81
2. %
4
81
3. ¢
2
9
4, ®

Question Number : 56 Question Id : 4509386776 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

If0(0,0,0),A(3,0,0),B (0,4,0) form a triangle then the incentre of triangle OAB is
0(0,0,0),A(3,0,0),B (0,4,0) ©& BT (B29H230 T3E), ©@0SEZ0|¢)0

Options :



(0,1,0)

1. %

(0,1,1)
2. %

(1,0,1)
3. %

(1,1,0)
4,

Question Number : 57 Question Id : 4509386777 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The direction cosines of the line of intersection of the planes x + 2y +2z—4 =0and

Ly—pre =0

x+2y+2-4=00000 2x - y 4z -3 =00 DO T Ty AF TR 0

Options:

(3 1 —4)
{EE’ﬁEE’ﬂEE

(3 2 —1)
V14 14 14



( 3 1 —5)
V35 435 V35
3.¢¥

( 3 —2 3 )
V2222 V22

Question Number : 58 Question Id : 4509386778 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If Lyand L, are two lines which pass through origin and having direction ratios (3,1,-5) and

(2,3, 1) respectively. then equation of the plane containing Lyand L, 1s

SO0 HOTHET (3,1,-5) HOAM (2,3,-1) €0 BF Nowgent fier Tew

BT L0 L, ©9om, L, 08050 L, B ORI 00 HahdBeasn

Options :

4x +5y—63 =0

1. %

S5x —y+3z=0
2. ®

2x—y+z=20
3.¢

¥=hby+3z=10
4, ®



Question Number : 59 Question Id : 4509386779 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

4+/2 — (cos x + sin x)°®
1 —sin2x

lim
Fr
x %4

Options :

Question Number : 60 Question Id : 4509386780 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
.. e*—a—log(l+x
If llIIS sini( ) — 0, thena =
x—
. e*—a—log(l+x
lim - ELlFe) 0o a=
r—=0 sin x
Options :
=



Question Number : 61 Question Id : 4509386781 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
1+ [sinx| /12 _G—n <x<0
The values of ¢ and b for which the function f (x) = § b, x=0
plan 2x/tan E'.;r' 0<y< E
is continuous at x = 0 are
1+ |sin x|%/Ism*l % <x<0
x =080 Dabaho f ()= b, x=0 ODD)N)0 B3I
ptan 2x/tan 3x u

| s
6

&0B 10005 b © DENSeN

Options :
g=1b=
1. #
¥
a==,b= e’ls
3
2.



ag—=—1h= ezfai‘r

Question Number : 62 Question Id : 4509386782 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

) AT, EEL s EW than £
If i) = [axz . L3 differentiable V x € R, then f'(2) =
. i 15 S T s « G s
f=1"% ©Q) ¥ € ROK 8380000 o, @) f(2) =
ax“+bx, x>
Options :
5
1. %
2. % X
—4
3. v
—10
4, %

Question Number : 63 Question Id : 4509386783 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

d? ‘
If y=t2+t3and x =t — t* then dx‘j atr—11s

o3 T ¥ d21
y =t + 13 080 x =t — t* WONB, @Y )W t =19 2 =

Options :
~%/3

1. %

2. ¢

Question Number : 64 Question Id : 4509386784 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

In the interval [0, 3]. the function f(x) = |x — 1| + [x — 2] is

[0, 3] @0OHS0ES F(x) = |x — 1] + |x — 2] [DDORVXD

Options:
Discontinuous

S TARTNATRY

1. %



differentiable

INEISTMOIINN
2. %

Continuous but not differentiable at x = 2 only

29D I3, 57 x = 2 A @5EOJNAN 57D
3. %

Continuous but not differentiable at x = 1 andx = 2

29D I3, 520 x = 1 HBAW x = 2 A @3EDANSN 52N
4.

Question Number : 65 Question Id : 4509386785 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
p; and p, are the perpendicular distances from the origin to the tangent and normal drawn at any
point on the curve ek + _sz J respectively. If kyp? +k,p5 = a’. thenky + k, =
by SHBAM p, € ST L0 OB JEe0 x 3 +y75 = 0’8 T i AT
D00y O A Q)0 Hioky edooabped de eoadroe.

kyp? + kyp? = a2 SONS, €500 ky +k, =

Options:
7

1. %

2. % .
D



Question Number : 66 Question Id : 4509386786 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
. X k " . "
The length of the subnormal at any point on the curve y = (ﬁ) is constant if the value of k is

Kk " o
y= (ﬁ] 93 HE0 B 2 Do IO T GH0DPOBO VG FIFRS k

0305}, o)
Options :
1
1. %
1
3
2. %
1
2
3.¢¥
0
4, %

Question Number : 67 Question Id : 4509386787 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



The acute angle between the curves x2 + y2 = x + yand x? + y2 = 2y is

S|EA0N 2% 4 y2 = x +y NHOAW 2% 4 y2 = 2y © DA (i) @50

Options :
2
1. % 3
T
2. % -
m
5
3 %
T
av *

Question Number : 68 Question Id : 4509386788 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A value of C according to the Lagrange’s mean value theorem for f(x) = (x = 1)(x = 2)(x = 3)

in [0,4] is

0,41 § £() = (x= D)(x-2)(x—3) § Bro 35D DN VTS0 (5o

ST € Bg) e 2.4¢3

Options :
2
o
\3

1.¢



Question Number : 69 Question Id : 4509386789 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

dx B
J x(x*+1)

Options :

log (_x"":; 1) +c

3 _ .
” log (x*+ 1) +c

1] 13 q
i VT | Bl



1 i x?
2 %8\ \w@r1)Te

Question Number : 70 Question Id : 4509386790 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

J dx
J/sin3x cos (x — a)

Options :
i
veotx +tana + ¢
Ccos
1. %
1 .
. yecotx —tana + ¢
yVeosa
2. ®
__]_ f
= yeotx +tana + ¢
Vsina
3. %
: veotx +tana + ¢
\cos a
4.

Question Number : 71 Question Id : 4509386791 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



sz
’.‘L—d,‘t' —
J VeX*+1

Options:

% (e* + 1)4@ (3e*—-1)+c

2 b

T (e* +1)74 (3e* —7) + ¢
2. %

4 3

51 (e* + 1) /s (3e* —4) + ¢
3, v

8 3

G (e*+1)72 (3e* — 1) + ¢
4, %

Question Number : 72 Question Id : 4509386792 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
T 2 —sinx J
JZCGS.\'-E—S L

Options :

2

e

V5

1 . e
Tan (:tan —) —logv2cosx+3 +c
V3 2




+ Ay % -
— Tan (—_tan —) + logv2cosx+3+c
V5 V5 2

3 AFE x =
— Tan (—_tan ,—) + logv2cosx—3 + ¢

V5 V5 2

1 1 X L —
— Tan™?! (:tan —) —logV2cosx —3+c
V5 v5 3

Question Number : 73 Question Id : 4509386793 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
s
sin K=
; a+x
Options :

e
(a + A’}Tnﬂ._l\f: —+ax +c¢
a

1. %

1

a-+x

Tan ™! (g) —+vax+c¢

. a .
(a+ xX)Tan™? (—) ++vax +c
X



¥

va+ x Tan™? ( ) +ax+c

(i}

Question Number : 74 Question Id : 4509386794 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Y24

i
[ secx log (1 = )dx =
, : X
24

Options :

2

Question Number : 75 Question Id : 4509386795 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

R— . : 5
If [x] is the greatest integer function. then fﬂ [x]dx =

[x] @6 16 JPTT0E 500NN ONS J'; [x]dx =



Options :

15
1. %

5
2. %
3, % 3
4 10

Question Number : 76 Question Id : 4509386796 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
T 1
J 02 & g
0 1+ytanx
Options :
0
’| e
T
2
2_ 2
T
3. % .
T
4



Question Number : 77 Question Id : 4509386797 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
T
" X sinx q
=
] 1+ cos?x
0
Options :
0
1. %
T
2
2_ E
2
3. = 2
2
4, & 4

Question Number : 78 Question Id : 4509386798 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

5
-y . . d3 y dy 2 / 2 .
Order and degree of the differential equation T 14 o respectively are

i !
i {1 4 (‘l*’)zl ’ e 958008 S50&8ea0 T, SO1B, DTSN SHIT

ix? dx

Options:



h
-2

3.0
2. %

3.2
3. ¢

2,3
4. %

Question Number : 79 Question Id : 4509386799 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
i : : i . ! dy ;
Integrating factor of the differential equation sin x ——ycosx=1is
X

u d L4 . W
sinx ﬁ — v cosx = 1 @) @580 DanEBeasin AB0E; DSTrEO Headsn

Options :
sin x
1. %
COS X
2. %
Zecx
3. %
cosec X



Question Number : 80 Question Id : 4509386800 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The general solution of the differential equation (x sin %) dy = (_V sin % — x) dx is

(x sin %) dy = (_v sin %— x) dx 9580 DDEBL0 TBNE), B S

Options :

3
cos —=log,x+¢
}T

1. %
cos = = log., x + ¢
g
2.
5
cos - =log,y+c
3, % "
cos —=log,y+¢
4. % *
Physics
SectionId : 450938145
Section Number : 2
Mandatory or Optional : Mandatory

Number of Questions : 40



Section Marks : 40

Enable Mark as Answered Mark for Review and

Yes
Clear Response:
Maximum Instruction Time: 0
Is Section Default?: null

Question Number : 81 Question Id : 4509386801 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Find the dimension formula of % in the equation F = ay/x + bt2. where F is a force. x is distance

and 715 time.
F = ayx + bt? &% SDE6H0S F 9050 267, r 8HSO SEro), f 89056
SRR AW, 2 Gl e raer

Options :

. [lwﬂL—le. TE]

[M{JLD TEJ."Z]

2. ®

[MOL1 T—4]
3. %

[IM'GL3,-"2 T-’-L]
4. %

Question Number : 82 Question Id : 4509386802 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The relation between time ‘t’ and displacement ‘¥’ is t = ax® 4 fx where @ and f are constants.
If ‘v’ 1s the velocity. the retardation is

FRZ070 ¥ SO0 TOD ‘¢ © DEE HODOTR), BO DSBS,

t= ax? + Br. Q0GOS a, f &) VTOFEN. el v’ NS, 20066 S5 0S?
Options :

3p2
- 2av°f

3
5 2afu

oo 3
- 2fBv

2auv3
4.

Question Number : 83 Question Id : 4509386803 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
If two stones are projected at angle ‘6" and (90 — ) respectively with horizontal with a speed of

20 ms™". If second stone rises 10 m higher than the first stone, then the angle of projection ‘6" is

(acceleration due to gravity = 10 ms™2)

30ch Ty 20ms™ SK0S § ez 67 HOAAW (90 — ) FeaNOS AT
D3 208, BOch Tro0 R TR $0T) 10m (10 K ANEB, |8 2) S0
‘9" e (MHthed ¢e5 5080 = 10 ms™2)

Options :

45°
1. %



30°

2. ¢

60°
3. %

20°
4. %

Question Number : 84 Question Id : 4509386804 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A particle revolving in a circular path travels the first half of the circumference in 4 s and the next

half n 2 s. What is its average angular velocity?

S9TSE 3o HODAS) 2.8 $0 IBE OPSITY 4 s Sed e

W, 5 W, e
99T 25 O |DOFE N, T ST T30k S0 Aoes?

Options :

4“79 rad/s

1. %

/e rad/s
2. %

2”;’3 rad/s
3 %

/5 rad/s
4.



Question Number : 85 Question Id : 4509386805 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Ablock of metal 2 kg is in rest on a smooth plane. It 1s striked by a jet releasing water of 1 kgs™

at a speed of 5 ms ™., then the acceleration of the block is

2 kg |5595073 1100 2.8 S'ar B HILBR Dk @&’)% )0 30 V0T 08, TR
1kgs™L Bened 5 ms™! SH0S AR 05 TRSQONS e &?1)6?35 $A ¢ s05¢00.

Options :

2 ms™?

2.5 ms ™2

0.25 ms™2

50 ms 2
4. %

Question Number : 86 Question Id : 4509386806 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

An insect is crawling in a hemi-spherical bowl of radius ‘R’ If the coefficient of friction between

the msect and bowl 1s ‘t’. then the maximum height to which the msect can crawl the bowl 1s
TG0 R e of forsd MBS of §0%0 [P0, FPSL, oA
§6)508 g aden 1heato W wand, 8 M S §6%0 FEIOT 1B Ny

Options :



2. %
1
J1+p?
3. %
1
R g
% L 1- “2]
4,

Question Number : 87 Question Id : 4509386807 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
Two objects having masses 1:4 ratio are at rest. When both of them are subjected to same force
separately. they achieved same kinetic energy during times t; and t, respectively. Then ratio of t—z
1

18

14 DABS (BS5T7Hen Ko B S0 do0S &S)9. 8 Bokot3d
DEVGET 2.5 2078 (HIT Y @3 TOUP e 355 DI £, HBOID

.:-wS t o
t, SerOS SoHS, t—z DN
1

Options :



1. %

2
2. ¢

2:5
3. %
4, ® :

Question Number : 88 Question Id : 4509386808 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
An object of mass ‘m’ 1s projected with an mitial velocity ‘v’ with an angle of ‘6 with the

horizontal. The average power delivered by gravity i reaching the highest point.

w (535078 10 2.8 SVYD W SO Fod § BE 0 Fea0 TR [HE N0
Trdy. @8 @ H0 SR TEHEIGS He s 80T GIRIODES
T8 D507

Options :

mgu sin? 0

2
1. %
mu? sin® B
2g
2. #



mg sin 0
2u

mgu sin 0

2
4.

Question Number : 89 Question Id : 4509386809 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A small disc 15 on the top of a smooth hemisphere of radius ‘R'. The smallest horizontal velocity 'V’

that should be imparted to the disc so that disc leaves the hemisphere surface without sliding down

is (there 1s no friction)

R aP5r0ein 110 SDR)A EiEain DGR DY HFga) SO, B8 DF o)

220590¢5, &G0 OO T¢I A 97 )30 @& 953283 § 8% roeh

S0 v Densd (e weren Be)

Options :

V=,g’R
1. %

V= 1‘_,"ZgR
2. #

V=g
3.v



Question Number : 90 Question Id : 4509386810 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Ablock (P) 1s rotating in contact with the vertical wall of a rotor as shown in figures 4, B, C. The

relation between angular velocities wy, wg & w so that block does not shde down.

(Ry < Rg < R radii)

2,8 625 Qe (72650 S5 o] (P) (50650 TOKE)YEY A B,C xS
SrIRAN0. By 80658 850w GodEAE SEH0D S wy, wg & wg © DE

000 (Ry < Ry < Re aFsaroen)

A A LA
N N L

E E
E B T

Fig. A Fig. B Fig. C

o X

Options :

f-r_}ﬁ < f-l'_]‘B = {UC

1. %

{,L}A — f-I'J‘E - {UC
2. %

f-I'J'C < (-LJ'B < 0..:'&
3. ¢

wWe = wy + wg



Question Number : 91 Question Id : 4509386811 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A horizontal board is performing simple harmonic oscillations horizontally with an amplitude

0.3 m and a period of 4 s. The minimum coefficient of friction between a heavy body placed on

the board if the body 1s not to slip 1s.

§ 82 NSroBEOM &53) 28 B G % BoTen 280, & EoTe

509 S0 03m HOA B3 F00 45, & 5D 28 DHZ SVHD

BT, G 50 T 2 R0 G0GTAE 8 5083 D5 GOBESONS EAa

08 (Hea%o

Options :

p=0.05
1. %

= 0075
2. %

=013
3. %

n=1.14
4, %

Question Number : 92 Question Id : 4509386812 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A test tube of mass 6 g and uniform area of cross section 10 em? s floating in water vertically
when 10 g of mercury 1s in the bottom. The tube 15 depressed by a small amount and then released.

Theline pesiod el oscilldionts Dlecelamiion ducinmavity = 10ms )

FEOSTDE (563077 6 S0O0M TPE NOITIS FTO0 10 em? & FSESTDE
ABS DS Toderds 9% 1808 arfoS 10g DEE0 DHABIO. &
THED NS FOT0 A0 T HOOL % o 36 BEINT BO5O BIEI

50 (Hded § ¢ 5080 = 10ms™)
Options:

0.75s
05s

0.25s
3.v

0.85s

Question Number : 93 Question Id : 4509386813 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
. . . W L
What 1s the height from the surface of earth. where acceleration due to gravity will be 7 of that of

the earth? (Re = 6400 km)
A7) GA0BO0 DHOD OB JeF Fand) I HDEBE & e e,

A &) sm;sé*%@m? (Re = 6400 k)

Options :



6400 km

1. ¢

3200 km
2. %

1600 km
3. %

640 km
4. %

Question Number : 94 Question Id : 4509386814 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Depth of a river is 100 m. Magnitude of compressibility of the water is 0.5 X 107° N"'m? . The

fractional compression in water a the bottom of the river 1s

(Accelaration due to gravity = 10 ms™2)

2,8 56 Sy 100 m. D3 H0DCEsS 0.5 X 1070 Nlm?. 008 36 @i He) O3

9078 030 (H5E ¢ b tBEasN = 10 ms ™)

Options :

0.9 x 103
1. %

0.5 % 1072
2. ¢

210 @



13 »x 102

Question Number : 95 Question Id : 4509386815 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Two mercury drops. each with same radius r. merged to form a bigger drop. T 1s the surface tension

of mercury. then the surface energy of bigger drop is given by

r ey o Boch OGN Dothdod 0, a8 QDo
DT ENTONDAND. FEEN0 TuE) dercddsed T @ons, J3)BS DG Doty
OWRIAL 8 (surface energy)

Options :

2mr2T

253 qp2T

2nr2T2

28/3 qp2T

Question Number : 96 Question Id : 4509386816 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The absorption coefficient value of a perfect black body 1s
HBIF B9 D) B0E} 35169 D% (absorption coefficient) e
Options :

Zero

4.v

Question Number : 97 Question Id : 4509386817 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
A certain volume of a gas at 300 K expands adiabatically until its volume is doubled. The resultant

fall in temperature of the gas is nearly (The ratio of the specific heats of the gas = 1.5)
300K &6 98 508 5005 I0aimeaa0 (1) 2.8 P00 WO (2 §0% & 507 o)
I5TEID 2 TEY oSt 355005 TAHRASE. ©aNS roie) GBS
SIHEE) T (F0IN) DGR A )& = 1.5)

Options :

1@ 88 K

TTK



67 K

5S4 K

Question Number : 98 Question Id : 4509386818 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The efficiency of a Carnot’s engine is 25%. when the temperature of sink is 300 K. The increase in

the temperature of source required for the efficiency to become 50% s

2,8 5°0), 0D0|een T, eberIaDo Safieh 300 K &ed)e))ch T (556 25%.

TR 8 e 50% $) DOLDE, GalA0N0 GBS @Id0ah; DD

Options :
225 K
1. %
400 K
2. %
3 200K
100 K
4. ®

Question Number : 99 Question Id : 4509386819 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



When 100 J of heat is supplied to a gas, the increase in the internal energy of the gas 15 60 J. Then
the gas 1s/can

2,8 POINHK 100 T B0 DEIT T, PN @906 385 DK 607,

€900 & TONe)
Options :

be triatomic or diatomic gas

(€30G5 E B O 5B ITNE °OINY)

1. %

Triatomic gas

(€385 E A0

Monoatomic gas

DEHBATENE AN
3.

Diatomic gas

& §DBATPENE TPAIN )

Question Number : 100 Question Id : 4509386820 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

An ideal gas is kept in a cylinder of volume 3 m? at a pressure of 3 X 10° Pa. The energy of the

gas 1s

2,8 BG8IPANY 3m® DIIBITFR0 o VBED & 3x105Pa DAV 5O

GOAB0R. & Fokna) 35

Options :



13.5 X 10°]

1. %

1.35 X 10° ]
2. ®

13.5 X 10°]
3.v

135 x 109
4, %

Question Number : 101 Question Id : 4509386821 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A pipe with 30 cm Length is open at both ends. Which harmonic mode of the pipe resonates a 1.65

kHz source? (Velocity of sound in air =330 ms™?)

30 em &¥¢a)) 0y 2,8 Q0 Boch Fayer BIHR0E. FEO TRV & @D 380 1.65
KHz SFe3259950 (10 33508 @90 &0tnod. (PO ¢3¢ Ftfoin =330 ms™)

Options :
2
1.% 7
3
2. &
3.5



23y

Question Number : 102 Question Id : 4509386822 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

An object 1s placed at a distance of 18 cm 1 front of a mirror. If the image 1s formed at a distance

of 4 cm on the other side. then focal length. nature of the mirror and nature of image are respectively

2,8 G6)ErE 00D 18em ArB0S S GO, A (DBo0
8)ETE BOE By 4 em ErdoeS D )E00. @@ & 8 7250880, (8

2 52730 B0 (2e32)02) @) §2FaFeN T

Options :

3.14 cm. concave mirror and real image

3.14 cm, 2)Ers°S 58820 8 D23 |He3I020

1. %
3.14 cm. convex mirror and real image
3.14 cm, 500275°8 5SIE30 DOAW A2 (De32)0D0
2. %
5.14 cm. convex mirror and virtual image
, o Sl4om, 500275°¢ 38 )220 DB TS (0320200

5.14 cm. concave mirror and virtual image

5.14 cm, o35S 3G 1820 B8O TS (D300



Question Number : 103 Question Id : 4509386823 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If a microscope 1s placed in air. the minimum separation of two objects seen as distinct 1s 6 um. If

the same 1s placed in a medium of refractive index 1.5. then the minimum separation of the two

objects to see as distinet is

28 DEWD (P8 800) D TS G0N, Toh SPHOD D)

RN KR0S PSS &0 1 AN P80 6 pm. T JT°)Ened

15 82558 heso Ko airstod GodSHD FEA NAET HiodEas

T35 &0 109 8 &rdo

Options :

4 nm
1.¢

6 pm

3 um

9 pm

Question Number : 104 Question Id : 4509386824 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Three pomt charges +4,42q and 4 4q are placed along a straight line such that the charge
+2q lies at equidistant from the other two charges. The ratio of the net electrostatic force on charges

+gand +4q1s
P DO BITO +g, +29 HOA + 4q 28 N0 T oG, +2¢ SSF0 WA
B0t E3FO HOB 3D ErE0S GOMNEY GODDATON. +q DO +4q

SFTOR S VO DS DO A )

Options :

Question Number : 105 Question Id : 4509386825 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Three parallel plate capacitors of capacitances 4 uF, 6 uF and 12 pF are first connected in series

and then in parallel. The ratio of the effective capacitances in the two cases is

4 1F, 6 uF OO 12 uF SFABR) €0 (10 P NIroSd H0e Tt
G FHSD Shared SAr0SEOmD Lenandaron. & Bod HodTOS
2528 TIRBR) © )

Options :

1.4



5:8
2_23

3z 7
3_$3

4:9
4. %

Question Number : 106 Question Id : 4509386826 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A particle of mass 2 g and charge 6 jiC 1s accelerated from rest through a potential difference of

60 V. The speed acquired by the particle is

28 (595073 DA 6 € SHF0 (i) 2,8 ST ATHH Ve N0 60V FVVHO

B0 ¢ 56600 TFE. §690 SP0AS H6

Options:

0.6 ms™1
1.4

1.2ms™ !

1.8ms™ !



0.3ms?

Question Number : 107 Question Id : 4509386827 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A straight wire of resistance R 1s bent in the shape of a square. A cell of emf 12V is connected

between two adjacent corners of the square. The potential difference across any diagonal of the

square 1s

R G0 He) 2.8 B:5) 3 DESRISE0S HOAAIO. emf 12V 1 2.8 0Er)

DRE00 o (HEE o) 3T ahicds SO, HEEN0 B §G0 Toch

3T D5 FBAHS T30

Options :

8V
1.

18V

6V

12V

Question Number : 108 Question Id : 4509386828 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



In the given circuit, if the potential at pomt B 1s 24 V, the potential at point 4 1s

335088 SO0H0S Do BS FHVHS 24V, @ond Doy 4 ¢
NEA O
10 12V
A —\N\, e oB
AE WA
6V 20
Options :
—48V
1. %
—24V
2.
=12V
3. %
—144V

Question Number : 109 Question Id : 4509386829 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Two long straight parallel conductors A and B carrying currents 4.5 A and 8 A respectively are
separated by 25 cm i air. The resultant magnetic field at a point which 1s at a distance of 15 cm

from conductor A and 20 cm from conductor B 1s

HHAT 45 A HOOW 8A NS (DFFOD $OR €d) Boch PBEI B
SATOBE TN A OO B TOS 25 em SRE0S 36 Dohad YD .
FP80 A 0B 15 cm OO FeFE0 B DO 20 em TGOS (16 2,8 DO S5
HO N0 (&

Options :

2% 107N
2 X10™%N

107> N
3. v

107*N

Question Number : 110 Question Id : 4509386830 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Two concentric thin circular rings of radit 50 cm and 40 cm. each carry a current of 3.5 A m opposite
directions. If the two rings are coplanar. the net magnetic field due to the two rings at their centre
15

TSPTEN 50 cm OO 40 em K6 TOK 8 TO[E) M)A YT 08T , (6
TS 3.5 A DS DT S50 AfeS OR Garyow. Bodh Soderen

By

D008 &0, Boch 086 S0 are3 $01890 S5¢ EG ohr, 06 3|50
Options :

11 X 10777
1.¢

22 X 107°T

17 wmadg

g w30 1T
4, %

Question Number : 111 Question Id : 4509386831 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



At a place where the magnitude of the earth’s magnetic field is 4 X 107 T. a short bar magnet is
placed with its axis perpendicular to the earth’s magnetic field direction, If the resultant magnetic
field at a point at a distance of 40 cm from the centre of the magnet on the normal bisector of the

magnet 1s inclined at 45° with the earth’s field. then the magnetic moment of the magnet 1s

AP @oDRTR08 I(h NP0 4 X 10°T o ¥ [DR10 5O |, a8 &Y
BOTODRTL00D 25 0D 06 S (¢ ¥ OO0 GOTTE). ODTL00
35655 DO H0G ©ANRTL0S ©02) DDA OGS T D 40 em ErG0S 0
HotHeY) G DO @O0 TS0, 25T D0 F|S0S 45° FRo T,
90008 (27050

Options :

38.4 Am?

12.8 Am?

25.6 Am?
4.9

Question Number : 112 Question Id : 4509386832 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The ratio of the number of turns per unit length of two solenoids A and B 1s 1:3 and the lengths of

A and B are in the ratio 1:2. If the two solenoids have same cross sectional area. the ratio of the self

mnductances of the solenoids A and B 15

A B0 B FOTONE © 508 o) (0 0 H0DIO A 1:3, A B0
B © PChe® ) 1:2. 30CH FPOTONGE © DB BTN QaTI0 BONS,
ASHBON B FOTONE © 000 (DS 50 e

Options :

112

1:6

1:18%
3.¢¥

1:9

Question Number : 113 Question Id : 4509386833 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



An inductor and a resistor are connected in series to an ac source of voltage
. T i . i . T
144 sin (10011’[ ¥ E) Volt. If the current in the circuit is 6 Sin (10 Ont + E) ampere, then the

resistance of the resistor 1s

2,8 050 SHO0K 2.8 ABGE0 144 sin (100:11 + E) STE Ko 2.8 ac 288 (FEFS

S0NAT. JOHOSR IS [HTTO 651'11(100r[t+9 ampere €00

DBES0 Gy DO
Options :
24 ()
1. %
36 ()
2. %
12 O
3.¥
18 Q)
4, %

Question Number : 114 Question Id : 4509386834 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Inner shell electrons in atoms moving from one energy level to another lower energy level produce

HESPENHOS'R @06E S8 ITOS R JO|FHO 25 8 Fraw 0B T 650y
38 w8 N0[EEI0 TOKB0 S0 tieh )& endhga)
Options :

1. %



Gamma rays

Ml 88eamen

Microwaves

D8 edBomen
2. %
Radio waves
- D &O3T edsormen
Ultraviolet rays
&3 e) S oyeh &egren
4.

Question Number : 115 Question Id : 4509386835 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If the kinetic energy of a particle 1 motion is decreased by 36%, the mcrease m de Broglie

wavelength of the particle 1s
BOS0S €5) 28 860 HB235 36% o, Seao By & 157 o Tsod
RONA

Options :

18%
1. ®

25%
2. ¢



20%

32%

Question Number : 116 Question Id : 4509386836 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The speed of the electron is a hydrogen atom in the n = 3 level 1s

(Plank constant = 6.6 X 10734]s)

B2 AESTENIS 1 =3 TS DTN JG (Y05 VT0E0 = 6.6 % 10734 s)
Options :

6.2 x 10° ms™!

1. %

3.7 x10° ms™ !
2. ®

7.3 10° ms™ !
3. v

1.6 X 10° ms™1
4. %

Question Number : 117 Question Id : 4509386837 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



One mole of radium has an activity of ;1{110 curie, Its decay constant is
(Avagadro number = 6 X 10% mol ™)
1 ¢ S
2.8 376 Bioho 85§ 1805 AR $OR 00, eond ) § o Vorodo

9T 0DE =6 X 102 mol ™!
(8T §

Options :

1
S 10718 g
6

1.4

10—1{} S_l
10—11 S_l

107851

Question Number : 118 Question Id : 4509386838 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The voltage gain and current gain of a transistor amplifier in common emutter configuration are

respectively 150 and 50. If the resistance m the base circuit is 850 Q. then the resistance m the

collector circuit 1s

G010 SIS DTEN0S A 28 (EFIND S50 STE HOAN eSS [T
SCDEN SEDT 150 HBAM 50. BEFE SHOHOS A ABEO 850 @ AN DEGES
S0H0S R AFE0



Options :

1700 Q
1. %

2250 Q
2. %

2550 ©2
3. %

3000 &
4. %

Question Number : 119 Question Id : 4509386839 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If the energy gap of a substance is 5.4 eV, then the substance is

2,8 D0 45 906530 5.4 eV @ond &8 Hrdo

Options :
Insulator
200550

1.+
Conductor

T80
2

p-tyvpe semiconductor

p-380 @3 57380
3. %



n-type semiconductor

n-850 @Q 5°*50

Question Number : 120 Question Id : 4509386840 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
In amplitude modulation. the amplitude of the carrier wave is 10 V and the amplitude of one of the

side bands 15 2 V. Then the modulation index 13

B HBDS SrEpBAS TrE $80( Eeed HBME 10 V B0 2.8 78t HE3
B0 DB 2 V. 90N ST BAN A7)

Options :

0.4
1.+
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Question Number : 121 Question Id : 4509386841 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If uncertainty m position and momentum of an electron are equal. then uncertainty m ifs velocity

15

2,8 DOITR TR0 DO (65300 AT (0 SaPSR, TR o S

©90)7,)¢5¢5 ¢0

Options :

2Zm\ @

11
my\7T

—



Question Number : 122 Question Id : 4509386842 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The graph between variation of probability density, #(r) and distance of the electron from the

mucleus, r 15 shown below. This represents

ORI @ﬁo@é@ A7) FAr) SOOI TO|BE0 0D O[T S0 € ¢
OF 5630 (806 L G0d. 90 Ardowd

A

AN

Options :

1s — orbatal

ls- @6;@5‘35
1. %
25 — orbital
2s - 38830
2.



3s — orbaital

3s - 883670

2p- orbital

2p - 88880
4. %

Question Number : 123 Question Id : 4509386843 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Match the following

List I List IT
A | Technicium | I | Non-metal
B | Fluorine II | Transition metal
C | Tellurium III | Lanthanoid
D | Dysprosium | IV | Metalloid

508 3230 2655 T

e 1 e I
Al®Ehoho |I |esSHo
B | 60 I | 583G S50

C | ®exrbdoho |II | erodorond
D | &F)n0Ho | IV | e SIro

Options:

A-IT, B-1, C-III, DD-IV

A-IIL B-1, C-IV, D-1I



A-II. B-I, C-IV, D-III
3.¢¥

A-IV, B-1, C-II, D-II1

Question Number : 124 Question Id : 4509386844 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Observe the following reactions. Identify the reaction in which the hybridisation of underlined atom

1s changed

1808 136500 830008, (80¢5 eSS (underlined) s)Ge3mena) 088880
00 Tse thBothod

Options:
NH; + H' = NH,"
1. %
PCl; +3 H,O » H.,PO; T 3HCI
2. ®
NaNO; + H)S04 P NaHSO, + HNO,
3. %
XeF¢ + Hy,O = XeOF; + 2HF

4.9



Question Number : 125 Question Id : 4509386845 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Among the following species. correct set of isostructural pairs are

Xe0;, C0%™,50,, H;07, CIF,

808 @SB 2O, STV 200008)  OBS  dde

Xe0,,C03™,50,, H,07, CIF,
Options:

(Xe03,C027) & (S03,H;0%)

1. %

(XeO5, SO3) & (CO%7, H,0M)
2. %

(XeO3, H;0%) & (SO3, CO2Z7)
3.¢

(SO3, CIF;) & (XeO5, CO327)
4, %

Question Number : 126 Question Id : 4509386846 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

What 1s the ratio of kinetic energies of 3 g of hydrogen and 4 g of oxygen at a certain temperature?

2,8 D8o) G| S0 3 g © BB, 4 g © 838)38 © TF) KBz 1o A

20eH?



Options :

3:4
1. %

6:1
2. %

12:1
3.¢

1:12
4. %

Question Number : 127 Question Id : 4509386847 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

What 1s the kinetic energy (in J mol ™) of one mole of an ideal gas (molar mass = 0.1 kg mol ™) if

its rms velocity is 4x10°m s~ ! at T(K)?

T(K) 369, 28 SO e3¢5 ) Fafwa) (RrerD (935078 =0.1 kg mol ™) rms B0

4x10°ms™ @900 ) #8248 (T mol™! ) Doeh?

Options :

2x10°
1. %

8x10*
2. %

8x10?



8x10°

Question Number : 128 Question Id : 4509386848 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

At STP “x’ g of a metal hydrogen carbonate (MHCO3) (molar mass 84 g mol™) on heating gives

CO2. which can completely react with 0.2 moles of MOH (molar mass 40 g mol ™) to give MHCO:.

The value of X’ is
STP G % g © 28 S'oF B2 50T (MHCO3) (FrerD (5695073 84 g mol™) &
ST ©20D €0z, 0.2 mol MOH (Irerd |3e5073 40 g mol™) & o

2385508 MHCO3 D 3008, ‘%’ DN

Options :

67.2
1. %

33.6
2. ¥

112
3. %

224
4, %

Question Number : 129 Question Id : 4509386849 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The volume of an ideal gas contracts from 10.0 L to 2.0 L under an applied pressure of 2.0 atm.
During contraction the system also evolved 900 I of heat. The change m intemal energy (in J)
mvolved i the system is (1 Latm=101.3])

2,8 €058 arO50a) 3 2.0 atm TR (HATFAODS))ED TR sdBTEI0 10.0L
0B 20L % D080 TOAOE. & 050 55559 0 9001 &0 SENSA0E.

5306 €0 8066% 3§ 7)) 1 ©S) (1 Latm=101.3 1)

Options :

720.8
1.4

3604
2. %

1620.8
3. %

810.4
4, ®

Question Number : 130 Question Id : 4509386850 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The molar heats of fusion and vapourisation of benzene are 10.9 and 31.0 kI mol respectively.
The changes in entropy for the solid = liquid and liquid — vapour transitions for benzene are x
and y. T K™ mol ™", respectively. The value of (yx) (in J K™% mol™) s
(At 1 atm. benzene melts at 5.5 °C and boils at 80 °C)
B0 By Irerd NN 00, Frerd ara )2 eoen ST 109, 31.0 &I
mol ™2, 0 80 0X—{E35, |3=2r0 HBGTOS Do R SN SENT
x 0G0 y TK™! mol 1 &00a) (¥-x) €0 ( K™ nml"ﬁ)?ﬁs)
(1 atm 23290 3¢ 0B 5.5 °C H¢ EDIHMOD 80 °C ¢ D)

Options :

87.8

1. %

48.7
2. ¢

391

28.7
4. %

Question Number : 131 Question Id : 4509386851 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



At T(K). the equilibrium constant for the reaction
Hy(g) +Bn(e) === 2HBr(g)

is 1.6 X 10°. If 10 bar of HBr is introduced into a sealed vessel at T(K), the equilibrium pressure of

HBr (in bar) 1s approximately

of e

T(K) &
Hy(g) +Bry(g) === 2HBr(g)

AN =

5055 DT VS V07050 e 1.6 X10%. 10 bar HBr o DN T aF{¢S § TK) 69

193305 TR, edE R o9 HBr S0 (bar OF) SDeSTEIT

Options :

10.95

9.95
3.¢¥

11,95

Question Number : 132 Question Id : 4509386852 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Which of the following will make a basic buffer solution?
808 ¢3S DO 5P NG |TSETR), DB IKNO0E?
Options:

1. %



100 mL of 0.1 M CH3COOH + 100 mL of 0.1 M NaOH

100 mL of 0.1 M HCIl+ 100 mL of 0.1 M NaOH

2. %

S0mLof 0.1 MKOH + 25 mL of 0.1 M CH3COOH
3. %

100 mL of 0.1 M HCI1 4+ 200 mL of 0.1 M NH4OH
4. v

Question Number : 133 Question Id : 4509386853 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The hydrides of which group elements are examples of electron precise hydrides?

2 (7)) STFOFE) 2B, JO| TR 00 DAIHOT 11e) T BRE) GTrarSeIen?

Options:

Group 14 elements

14 o3 [(1°0) aIPES°EN
1.

Group 13 elements

13 & [{10%6)) sT°EIS*EN
2. %

3. %



Group 15 elements

15 0d |f19°0) aIPEIS*EN)

Group 16 elements

16 o3 |f17PaY) a0 SN
4. %

Question Number : 134 Question Id : 4509386854 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The correct order of density of Be, Mg, Ca. Sris
Be. Mg. Ca. St © alF0O(¢d¢d Q30E) AN (500
Options :
Sr>=Be>=Mg=>=Ca

1.4

Be>Mg=>Ca=>Sr

2. ®

Mg > Ca> Sr>Be
3. %

Ca=Sr>Be>Mg
4, %

Question Number : 135 Question Id : 4509386855 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Which of the following orders is not correct against the given property?
180D aE3eS” @I 503 T8 & (50650 DB 5°¢0?

Options :

Ga < In < Tl < Al < B — melting point
Ga<In<Tl<Al<B — 225 edsdnd

1. %
Al < Ga < In < Tl < B — Electronegativity
Al<Ga<In<Tl<B - &0 507ed 56
2 %
B < Al < Ga < In < Tl — density
B <Al < Ga<In<Tl-aro(ded
3. #
B <Al < Ga < In < Tl — atomic radius
B <Al < Ga < In<Tl- H3Srew axsardo
4.

Question Number : 136 Question Id : 4509386856 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Which of the following are correct?

1. Basic structural unit of silicates 1s —R2S10—
1. Silicones are biocompatible

111. Producer gas contains CO and N2

The correct option is

1BOB a7¢36S” HBTHSD DN?

i. —R2Si0- DETE) © [T E QT 2676528 ATIE)

ii. VOER ) BT DETOTDID

iii. |SPCOFA0 M. CO DA N2 @D 58 A0d) &
QBN 2ADE0

Options :

1. 11, 111

2. ¥

1. 11 only

i, iii Q3T €Ha0
3. %

1. 11 only

i, ii 23075
4, %

Question Number : 137 Question Id : 4509386857 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A metal catalyst (X) 15 used in the catalytic converter of automobiles. This prevents the release of

gas Y 1nto the atmosphere. What are X and Y respectively?

2,8 & oT 1855650 (X) o) Barer Firre) 65(B )85 1706 0@ oS e,
20 FTSGR0SE FOMY ¥ D DS TSRO 83:9008. X HOOH Y e
NN

Options:

Pd. NO;
1.4

Rh. CO»
2. %

Pt. N>
3. %

Ni. CHy
4, ®

Question Number : 138 Question Id : 4509386858 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A muxtore of substances A. B. C. D is subjected to column chromatography. The degree of

adsorption is in the order of D > B > C > A, The column is eluted with suitable solvent. Identify

the correct statement with respect to separation of mixture

A,B.C.D 80 DTN &) 8 DFSTR) FOMD (FSreT (g S Tard. are3
OOFNE OO (50 D > B > € > A. FOD DT SRS [PHeS Aserdo
0. & DEddnd I ToHEVE N00H0D O T

MOITAVAW



Options :

D comes out first from the column

S a0 D 0 220068 S0

1. %
A comes out first from the column
S0 aD0D) A BNAE 2008 HNoH
2.
C comes out after B from the column
S0 cDOT) B 5053°¢5 C a3e )0
3. %
B comes out after D from the column
5@ DO D A3a°ed B 50O
4. %

Question Number : 139 Question Id : 4509386859 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

What 1s X in the following reaction?

800 BG5S X DE?
COOH .-
KMnO, - H,SO Br
Ho0" ST NS MO0 iy BE o
A UV light
Options :

H;C—CH,—C= C—CH, —CHBr



HSE_CHi_C' = C—CH _CHj

Br
2. %
Br
Br
3. %
Br
4.

Question Number : 140 Question Id : 4509386860 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The density of f-Fe is 7.6 g cm™. It crystallizes in cubic lattice with a = 290 pm.
What is the value of Z? (Fe = 56 g mol™:; Ny =6.022 x 10% mol™)
B -Fe OR0E), APO|CIED 7.6 g em™. AE) S (cubic) 220808 $)888800 Toched. HY
2 =290 pm. Z Q)N a)0ed?

(Fe =56 g mol™; N =6.022 » 10* mol)

Options :
L
1.4
1



Question Number : 141 Question Id : 4509386861 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The mass % of urea solution 1s 6. The total weight of the solution 15 1000 g. What 1s its

concentration in mol L7 (density of water=1.0 gmL™)

(C=12u:N=14u0=16u.H=1u)

OPBOSF |TI690 2POTE0 6. |THEI0 SNLO 27G0 1000 g. T3 TChed mol L o

o

2067 (C=12uN= 14w 0=16uH=Iu) (563 PO|ed=1.0g mL?)

Options :

| B
1. #®

1.064
2.

1.12
3. %

0.80
4, %

Question Number : 142 Question Id : 4509386862 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time: 0
A non - volatile solute 1s dissolved in water. The ATy, of resultant solution 15 0.052 K. What 1s the
freezing point of the solution (in K)?
(Kp of water = 0.52 K kg mol ™ K¢ of water = 1.86 K kg mol™; Freezing point of water =273 K)
2,8 @271 )30 [N A8 $0A0w8. D) (56 ATy e 0.052K,
E5605) LS T80 K ) J0éh ?
(VS Kp=0.52 K kg mol™; Q83 Kr=1.86 K kg mol™; €3 s00%30 aFd0 =273 K)

Options :

272.628
1. %

273.186
2. %

273.000
3. %

272.814
4.

Question Number : 143 Question Id : 4509386863 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The standard reduction potentials of 2H7Hy, Cu™/Cu, Zn*/Zn and NO3. HNO are 0.0, +0.34,
=0.76 and 0.97 V respectively. Observe the following reactions
I Zn+HCl-
. CutHCl-
. Cu+HNO;—
Which reactions does not Liberate Hy (g)?
2HH, Cu/Cu, Zo®/Zn OO NO7, HNO © (Da3red 5806 45700 SO
0.0, +0.34,0.76 BN 0.97 V. 1§08 5830 B0
[ Zn+HCl—
I. CutHCl-—
I. Cu+HNO3—
2 3560 Ha (g) o 0 TOHY?

Options :

IL. 11T only

I1, IIIo30°| €630
1.¢
L. II only
L IT o307 €533
2. ®
L. III only
L IIT o30°( €53
3. %
I I, 111



Question Number : 144 Question Id : 4509386864 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

i . A[Br] . .
At 298 K the value of — % for the reaction

5Br~(aq) + Br03 (aq) + 6H* (aq) — 3Br,(aq) + 3H,0(1) is x mol L min, What is the rate
(in mol L™ min™) of this reaction?

AlBrT] R
= 2ene rmol LT min™

298K o369 (800 5%, -
5Br~(aq) + Br03 (aq) + 6H™ (aq) — 3Br,(aq) + 3H,0(1)
& 2503 BEY (mol L min © ) ) 0E8?

Options :
5x

1. %
X

2. %
X
B
3.4
X
_ 5

4, %

Question Number : 145 Question Id : 4509386865 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Which of the following general reaction is an example for heterogeneous catalysis?

800 B & e s Dereod 1@ )505) GIrde?



Options :

A @+B(® —S® L ,ap (2)
’|_ e
C ( :
A(s)+B(s) &) D (s)
2_ e
A@+BER — D (2)
3. v
A @+B (e —& o Dy
4, %

Question Number : 146 Question Id : 4509386866 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Match List I with List IT

List-I List-II
A | Aerosol I | Milk
B | Foam II | Soap lather
C | Emulsion III | Cheese
D | Gel IV | Smoke

The correct answer 1s

ORI VIS BHIETVM

OQ-I OQ-II
A | OSSO I |2ren
B | 9 II | daw) o
C | QDO I | aredd)
D |26 IV | &

DO TP
Options :

A-Il;, B-I, C-III, D-IV

1. %

A-IV, B-I, C-II, D-II
2 %

A-I, B-Il, C-IV, D-II
3 %

A-IV, B-II, C-I, D-IlI
4.

Question Number : 147 Question Id : 4509386867 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The type of iron obtained from Blast furnace in the extraction of iron is
& o o W o ;
20030 AAE0 S, 2R FON DO DOTH Ve S0

Options :

Wrought iron

D65 S0

Pig iron

D&y RS0
2.

Cast iron

P68 Q) o)
3. %

Steel
L &80

Question Number : 148 Question Id : 4509386868 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



873 K
Xe(g) + 2Fy(g) »  XeFy(s)
7 bar

The ratio of Xe: F3 required in the above reaction 1s

873 K
Xe(z) + 2F,(g) > XeF,(s)
7 bar

2 B85S 523 Xe : F2 )

Options :

1 22
1. %

| -2
2. ¢

|,
3 %

| @l [
4, ®

Question Number : 149 Question Id : 4509386869 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The transition metal with highest melting point is

@965 $HE (902563 T30 1) HBIES a0

Options :



Cr

Mo
3 %

W

Question Number : 150 Question Id : 4509386870 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
Arrange the following in the increasing order of number of unpaired electrons present in the central
metal 1on
L [MaClg
I  [FeFsf
M. [Mn(CN)*
IV.  [Fe(CN)*
808 &R So|% SaF BATRS D) BSEFER JOFH 0O S
15508 @8 e
L [MaClef
I [FeFg
ML [Mn(CN)*
IV. [Fe(CN)

Options :

IV<I<OI<HO



I<HI<II<IV

2. %

IV<II<I<II
3. ¢

[<II<HI<IV
4. %

Question Number : 151 Question Id : 4509386871 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Which of the following polymerisation leads to the formation of neoprene?

1806  FDnBEBE0S DTS G )CHOE?

Options :
Cl
AICI,
n s
//
1. %
(CcHsCO),0,
11

-




cl
(CsHsCO),0,
n -

AICI
n 3

Question Number : 152 Question Id : 4509386872 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which of the following represents simplified version of nucleoside?

1808 383 DO 8T G T TR, A8 201 SN 0H?

Options :

Base- sugar- phosphate

5°350- O8LG- IS

1. %
Sugar- base
3.6 - 5280
2.9
Sugar- Phosphate
D86 - P
3.



Base- Phosphate

5°80- P )8

Question Number : 153 Question Id : 4509386873 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which of the following anuno acids possess two chiral centres?

180A O AN e3:D0ES BOH 3B TOITTeN Gar) 002

Options :
Leucine
T DD
Valine
S8R

2. %
Serine
:'nj@r%

3. %
Threonine
12303

4.v

Question Number : 154 Question Id : 4509386874 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time: 0
Which of the following sweetener use 1s limited to soft drinks?

1808 2 B HTTR) B FAATOS’ S5 &HTBrATED?

Options:
Aspartame
SDTTD
1.+
Saccharm
888
2_ W
Sucralose
ESE
3. % )
Alitame
o) T
4. ®

Question Number : 155 Question Id : 4509386875 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Which of the following are general methods for the preparation of 1-iodopropane?

Nal

HI o AN
N P e

dry acetone

Nal
OH g
B N\ 3 B e o
95% H,PO, hy

3080 28S 2 ATEre 500 1-OTPE| DI & TSR0
BOFHT ARSI ?
Nal

1
/\ HI B g
i — 3 RS

Nal

OH I
B. /\/ _ D /\ -
95% H;PO, hv
Options :
A B
1. %
B, C
2.
C. 1)
3. %



Question Number : 156 Question Id : 4509386876 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The product of which of the following reactions undergo hydrolysis by Syl mechanism?
808 DSOS F3D0G IFIES &8I0 Syl LT TS0 5T ZODINEO
D0A0E?

A (1) (BHs), o )\
(it) Hy0y/ OH ™ HBr
CeHs NG —— CeHs N —

(1) SOC,

B. HBr D. HBr
CeHs /\/ —— 0 /\//

Cells (CeHsC0)0,
Options :
C. D only
C. D S e5ad
1. %
A.B. C only
A, B. C 07530
2 %
B. C only
B. C 307530
3.¢
A. D only
A. D S55edadd



Question Number : 157 Question Id : 4509386877 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Styrene on reaction with reagent X gave Y which on hydrolysis followed by oxidation gave Z. Z

gives positive 2.4 — DNP test but does not give iodoform test. What are X and Z respectively?

208, X @5 23508 965500 ¥ & 300, A BONTE0 T Srd

55680 DOV Z & D)0, 2.4 - DNP 08 Z 308 5 ©OMEFED

NOE ) 93268, X BN Z ) DT ?
Options:

HBr ; Ce Hs CO CHs3

1. %

HBr : CsHs CH2 CHO
2. %

HBr / (CeHsCO)202 : CsHs CH2 CHO
3. ¢

HBr1 / (C6H5CO)203 : CeHs CO CH3
4. ®

Question Number : 158 Question Id : 4509386878 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



What are A and B in the following reaction sequence?

180 HT7EBNO0CS A SHECM B €0 D2

A ¥
CH,COOH —» X —=B
s H™ (Analgesic drug)

(DO 225 DOD)
Options :
COOH
P,0s. A .
COCH,
1.4
COOCH;4
P,Os. A -
OH
2. %
OCOCH;
SOClL,. A
HO,C
3. %

4. %



OH

SOCL. A

H;3CO,C

Question Number : 159 Question Id : 4509386879 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Which of the following sequence of reagents convert propene to 1-chloropropane?
800 & SEO) 15990 |FPDS & 1- 58 1F DS TP BN 08?

(dil. = 86, Cone, = K]

Options :

(i) (BH3)2 (ii) H202/ OH : HCL ZnCh

1.¢

(i) (BH3) (ii) H102/ OH : NaCl
2. %

(1) dil. H SO4 . HCL. ZnCl;
3.

(1) dil. H2SO4 : Conc. HCI
4. %



Question Number : 160 Question Id : 4509386880 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

What are X and Y respectively in the following reactions?

E0A HBLOS X BT Y €0 ST D2

CONH,
L LiAlH, Br.
F I
ii. H,0 GO =

Options :

O\]HE :

NH,
O/\ Lo NH,

1. %
2. ¢
3, %



NH,
NH,



